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D.1 = & &nik
Sinf=1/Csc @
Cos & =1/SecH
Tan & =Sin@ /Cos &

SinH + Cos’6=1
Sec’d - Tan’6=1
Csc’H - Cot’ =1

izl 1
Sin 9—2 2CosZ@
SinH=1- Cos’6

a1 _ 1
1- Cos 9—2 2CosZ@

Cos’ 6 =§ + % Cos2 0

Cos2 6 =Cos’ 6 -Sin* @
Sin2 8 =2Cos 6 Sin@

SinX SinY=— [Cos(X-Y)-Cos(x+Y)]
CosX CosY=— [Cos(X-Y)+Cos(x+Y)]

SinX CosY=— [Sin(X-Y)+Sin(x+Y)]
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Cos(X+Y)= CosX CosY - SinX SinY
Cos(X-Y)= CosX CosY + SinX SinY
Sin(X+Y)= SinX CosY + SinY CosX
Sin(X-Y)= SinX CosY - SinY CosX

A _ B _ C
Sina Sinf Siny

P=(A+B+C)/2

& f#=[P(P-A)(P-B)(P-C)]"*
A*=B*+C*-2BC Cos

1-Sing _ . BN s
Treing tan<(45 > a B iRl R
1-Sing — 2 2 N s tal 1 RE
Trsing tan?(45 + 2) At i 4 R

1-sing #F  # ] 4 B
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D.2 &~

dx™ N
v nx

—Sinx =C

P inx 0SX
— Cosx = —Si
P 08X inx

—T = Sec?
dx anx X

d
in—1, — _y2
- Sin~x 1V - x?)

d
ac:os-lx = —1/V(1 - x?)

iTan‘lx =1/(1—x?)
dx

P)="L%

(f+9) ()=f"(x)+g’(x)

(fg)' ()=f()g"(x)+F (x)g(x)

1yr — g'(x)
(g) () [g(x)]?

N — f(x)g(x)—f(x)g'(x)
(g) () [g(x)]?
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Jadx=ax+c

1
Jx"dx= x4
n+1

1 —
Jox=Inx + ¢
Jexdx =e*+c¢
JSinxdx = —Cosx +c
J Cosxdx = Sinx + ¢
1
JSinmxdx = —ECosmx+c

1
JCosmxdx = ESinmx+ c

1

JSinmx Cosx dx = — 1Sinm+1x +c
-1

J Cos™ x Sinx dx = —— Cos™x + ¢
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J(Sinm x)(Cos™x)dx
mé&n F_i%#k

17 Sin‘0= - ~Cos20 & &

Cos’ 0 =§ + % Cos2 0

J Sin(mx)Cos(nx)dx
J Sin(mx)Sin(nx)dx

J Cos(mx)Cos(nx)dx

1% SinX SinY=> [Cos(X-Y)-Cos(x+Y)] & M
CosX CosY=— [Cos(X-Y)+Cos(X+Y)]

SinX CosY=— [Sin(X-Y)+Sin(x+Y)]
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J (Sin™ x)(Cos™x)dx

mor n ¥%i#k
fI* Sin"0+ Cos’ 6 =1
Sin6=1- Cos’0 & ®
Cos’@=1- Sin°H

[ Sin3xdx=[ Sinx dx — [ Cos? x Sinx dx

1
=-COSX + - Cos3x

Sin’x=Sin’x Sinx
=(1-Cos’x)Sinx
=Sinx- Cos’xSinx

[ Cos? x Sinx dx =[ —u? du=—%u3 +c

u=Cosx
du=-sinxdx

u’=Cos’x
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RS * 2 A
JSinZd) = —%Coqub +c

1
J Cos2¢p = ESin2¢ +c

1

JSinz(,b = E((,b + Sin2¢) + ¢

J(l — Cos¢)? = %(3(1) — 4Sing — Sin2¢) + ¢

J(l — Cosp) = (¢ — Sing)

BEESRAE —r%]ig.j'l
izl _ 1
Sm@—2 2CosZ@
21 1
Cos 9—2 + 2CosZ@
1
JSinmxdx=——Cosmx+c
m

1
JCosmxdx = ESinmx+ c
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# ~ Chain Rule

-1
JSin(mx)dx = ?Cos(mx) +c
—u=mx, du=mdx dx=du/m

1., -1 -1
- f;Smudu=;Cosudu = ;Cos mx +c

1
J Cos(mx)dx = ESin (mx) +c¢

1 1 4. 1 ..
- [=Cosudu==Sinudu ==Sinmx +c
m m m

. 1
[ Sin™x Cos xdx = —— Sin™*x+c

m+1
—Uu=Sinx, du=Cosxdx dx=du/Cosx

mc 1
S [ gy = [umdu = ——u™! + ¢ = —— Sin™Hxte
Cosx m+1 m+1
. -1

[ Cos™x Sin xdx = —— Cos™*1x+c

m+1
—yu=Cosx, du=-Sinxdx dx=-du/Sinx

uMmSinx -
[T gy = [—umdu = —umtl 4o =
Sinx m+1

-1
—— Cos™*Ix+c
m+1
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